Body Assembly

2.5 BCS

‘ @\8119 | |
A0
816 L R s
2.5 BCS
8ty !
g @
2617
2.5x8 BCS 8120%
3931
| 3X8FCS
8116 8116
2617
250805 L ﬁ;
gs?g FCS 3x10FCS
8116 8120 i
8120X
4859
3x10FCS
See Parts List for a complete Specifications on this page are subject to change without notice. Every attempt has been made to ensure

listing of optional accessories. the accuracy of this drawing; however, Traxxas cannot be held responsible for typographical or other errors. REV 190227-R03


https://www.rc-hp.de/Traxxas-Spiegel-seitlich-l-r-Schnorchel-8119
https://www.rc-hp.de/Traxxas-Spiegel-seitlich-l-r-Schnorchel-8119
https://www.rc-hp.de/Traxxas-Spiegel-seitlich-l-r-Schnorchel-8119
https://www.rc-hp.de/Traxxas-Spiegel-seitlich-l-r-Schnorchel-8119
https://www.rc-hp.de/Traxxas-Spiegel-seitlich-l-r-Schnorchel-8119
https://www.rc-hp.de/Traxxas-Spiegel-seitlich-l-r-Schnorchel-8119
https://www.rc-hp.de/Traxxas-Spiegel-seitlich-l-r-Schnorchel-8119
https://www.rc-hp.de/Traxxas-Spiegel-seitlich-l-r-Schnorchel-8119
https://www.rc-hp.de/Traxxas-Spiegel-seitlich-l-r-Schnorchel-8119
https://www.rc-hp.de/Traxxas-Spiegel-seitlich-l-r-Schnorchel-8119
https://www.rc-hp.de/Traxxas-Spiegel-seitlich-l-r-Schnorchel-8119
https://www.rc-hp.de/Traxxas-Grill-Grill-Retainers-2-Licht-Gehaeuse-2-Linse-2-fue-8116
https://www.rc-hp.de/Traxxas-Grill-Grill-Retainers-2-Licht-Gehaeuse-2-Linse-2-fue-8116
https://www.rc-hp.de/Traxxas-Grill-Grill-Retainers-2-Licht-Gehaeuse-2-Linse-2-fue-8116
https://www.rc-hp.de/Traxxas-Grill-Grill-Retainers-2-Licht-Gehaeuse-2-Linse-2-fue-8116
https://www.rc-hp.de/Traxxas-Grill-Grill-Retainers-2-Licht-Gehaeuse-2-Linse-2-fue-8116
https://www.rc-hp.de/Traxxas-Grill-Grill-Retainers-2-Licht-Gehaeuse-2-Linse-2-fue-8116
https://www.rc-hp.de/Traxxas-Grill-Grill-Retainers-2-Licht-Gehaeuse-2-Linse-2-fue-8116
https://www.rc-hp.de/Traxxas-Grill-Grill-Retainers-2-Licht-Gehaeuse-2-Linse-2-fue-8116
https://www.rc-hp.de/Traxxas-Grill-Grill-Retainers-2-Licht-Gehaeuse-2-Linse-2-fue-8116
https://www.rc-hp.de/Traxxas-Schraube-25x8mm-Rundkopf-Innensechskant-6-2617
https://www.rc-hp.de/Traxxas-Schraube-25x8mm-Rundkopf-Innensechskant-6-2617
https://www.rc-hp.de/Traxxas-Schraube-25x8mm-Rundkopf-Innensechskant-6-2617
https://www.rc-hp.de/Traxxas-Schraube-25x8mm-Rundkopf-Innensechskant-6-2617
https://www.rc-hp.de/Traxxas-Schraube-25x8mm-Rundkopf-Innensechskant-6-2617
https://www.rc-hp.de/Traxxas-Schraube-25x8mm-Rundkopf-Innensechskant-6-2617
https://www.rc-hp.de/Traxxas-Tailgate-Panel-Tail-Licht-Linse-2-l-r-8117
https://www.rc-hp.de/Traxxas-Tailgate-Panel-Tail-Licht-Linse-2-l-r-8117
https://www.rc-hp.de/Traxxas-Tailgate-Panel-Tail-Licht-Linse-2-l-r-8117
https://www.rc-hp.de/Traxxas-Tailgate-Panel-Tail-Licht-Linse-2-l-r-8117
https://www.rc-hp.de/Traxxas-Tailgate-Panel-Tail-Licht-Linse-2-l-r-8117
https://www.rc-hp.de/Traxxas-Tailgate-Panel-Tail-Licht-Linse-2-l-r-8117
https://www.rc-hp.de/Traxxas-Tailgate-Panel-Tail-Licht-Linse-2-l-r-8117
https://www.rc-hp.de/Traxxas-Tailgate-Panel-Tail-Licht-Linse-2-l-r-8117
https://www.rc-hp.de/Traxxas-Tailgate-Panel-Tail-Licht-Linse-2-l-r-8117
https://www.rc-hp.de/Traxxas-Tailgate-Panel-Tail-Licht-Linse-2-l-r-8117
https://www.rc-hp.de/Traxxas-Tailgate-Panel-Tail-Licht-Linse-2-l-r-8117
https://www.rc-hp.de/Traxxas-Tailgate-Panel-Tail-Licht-Linse-2-l-r-8117
https://www.rc-hp.de/navi.php?qs=TRX8120
https://www.rc-hp.de/navi.php?qs=TRX8120
https://www.rc-hp.de/navi.php?qs=TRX8120
https://www.rc-hp.de/navi.php?qs=TRX8120
https://www.rc-hp.de/navi.php?qs=TRX8120
https://www.rc-hp.de/navi.php?qs=TRX8120
https://www.rc-hp.de/navi.php?qs=TRX8120
https://www.rc-hp.de/navi.php?qs=TRX8120
https://www.rc-hp.de/navi.php?qs=TRX8120
https://www.rc-hp.de/navi.php?qs=TRX8120
https://www.rc-hp.de/Traxxas-Karo-TRX-4-Sport-unlackiert-mit-Fenster-Masken-Decal-8111
https://www.rc-hp.de/Traxxas-Schrauben-26x8mm-Rundkopf-M-Gewinde-Innensechskant-6-7943
https://www.rc-hp.de/Traxxas-Schrauben-26x8mm-Rundkopf-M-Gewinde-Innensechskant-6-7943
https://www.rc-hp.de/Traxxas-Schraube-25x8mm-Rundkopf-Innensechskant-6-2617
https://www.rc-hp.de/Traxxas-Schrauben-3x8mm-Senkkopf-3931
https://www.rc-hp.de/Traxxas-Schrauben-3x8mm-Senkkopf-3931
https://www.rc-hp.de/Traxxas-Schrauben-3x8mm-Senkkopf-3931
https://www.rc-hp.de/Traxxas-Schrauben-3x8mm-Senkkopf-3931
https://www.rc-hp.de/Traxxas-Motorbefestigungsschrauben-4859
https://www.rc-hp.de/Traxxas-Motorbefestigungsschrauben-4859
https://www.rc-hp.de/Traxxas-Motorbefestigungsschrauben-4859
https://www.rc-hp.de/Traxxas-Motorbefestigungsschrauben-4859



